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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2023.
Third Semester

Economics — Core

MATHEMATICS FOR ECONOMICS -1
(For those who joined in July 2021 onwards
Time : Three hours : Maximum : 75 marks

PART A — (1 X 10 = 10 marks)

Y

Answer ALL questions.

1. 875, 245 wpmib 1225 g Hweupider HCF ererren ?
(=) 105 (<) b
@) 7 (rr) 35
What is the HCF of 875, 245 and 12257
(a) 105 (b) 5
© 7 @) 35



to

a”+a" =7

(@) a™" ‘ () o™

@ a’% ‘() a™
a™=a"="?

(8 a™" () a™™"

© o’ @ o™

a.b,c s dwee sl RSEsmLiT Q_"ﬂg,mgm'
BmsdSemer arafled

(=) b=a+c (=) 2b=a+c
@ b'=a+c (). 2% =a+c
If a,b,c are in arithmetic progression, then
(a) b=a+c Mb) 2b=a+c

© b=a+c (d 2 =a+c

Qereumaaeuhmer ergl QU@BSEGS Qsriiraufmass
2 STHERTLD ShELD ?

(=) 12,34 (=) 1,2,4,8

(@) 3,579 () 9,20,21,28

Which of the following is an example of a
geometric sequence?

(a) 1234 (b) 1,2/4,8
(¢ 3,579 (d) 9,20,21,28

Page 2 - Code No. : 305697 B

A=1{56,7} vpgw B=1{7,89} calls AUB =
(@) {5,6,7,8,9} () {5,6,9}
@ {5.6,7,7,8,9} ™ {5,6,7}

If A={56,7} and B={7,8,9} then AUB is equal
to

(@ {5,6,7,8,9} ® {5,6,9}
© {5.6,7,7,8,9} @ {567}
Qeupmis sewnd ereug
(S1) WPren &b

@) yeyprs sewb (F) el saubd

() Gedens seawrbd

Empty setis a?
(a) Tinite set (b) Invalid set
(¢) Infinite set (d) = Subset

@ munE sweTuNLige euenTuLLb

(=) GriGsr(®

(<) euameanGam

(@) ureueerwib

(r) Cupamdu egeyboame

The graph a quadratic equation is a

(a) Straight line (b) Curve

(¢) Parabola (d) None of the above
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aflens  swemumig ey

SeraumeleTeuHDIET &l

2 ST ?

(=) 3x+5=10

(=) 3x+5x+2=15

(@) 3x*+5x°+2x+83=20
() 2x+3y=13

Which of the following is an example for linear
equation?

(a) 3x+5=10

(b) 3x*+5x+2=15

() 3x%+5x2+2x+3=20

(d 2x+3y=13

y=mx+c, HH m ererug
(=) x—Gau @
() y-Ga®
(@) emiey
() eueneTGaT(H)
y=mx+c,where m is
(a) x-—intercept
(b) y-intercept
(c) Slope
(d) Curve
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10.

11.

@ren® CoiGarpadr, semeusaien smiey
<15 QHHsTD HeaaGar@adt aar Hepsslu@ib.

(< 0
() -1
(@) &wb

(F)  Gupadu argia|bleene

Two straight lines are said to be parallel, if their
slopes are
(@ 0 (b) -1

(d) none of the above

(c) equal
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(=) -;—,gm,ﬁ)ymg- S EweunBlne HCF
wimnwb LCM arens.
Find HCF and LCM of %% and %
Or
(=) (25)° x(5)*° +(125)"° =5 erafled x &

WwHUMUSE Srehrs.
(25)° x (5)*° +(125)"® =5° Find the value of

X.
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12,

13.

(=)

(<)

(=)

(=)

-A={a,b,c,d,e} -

Geraumb Qupseflss Cormasmen sHEEs.
@ 38x-(2-x)
@) x(4-x)-x(3-x)
Simplify the following algebraic expression.
@ 38x-(2-x)
G) =x(@-x)-x@B-x)

Or

3,7,11.... eearp Qazrfle 79 asgmanumreug)
2 mitiy? -

Which term of the series 3,7,11.... is 797

B= {a,c,e,g} Hmith
C=1{bef g} aaled

@ Au(BuC)=(4uB)uC

() An(BuC)=(AnB)uU(ANC)eer sm Hs.

A= {a,b,c,d,e} B= {a,c,e,g}
C= {b,e,f, g] show that

@ Au(BuC)=(AuB)uC
i) An(BuC)=(AnB)u(4nC)

and

Or
!ﬂr;r::]qés SaRTLD erermmed GTewen ? 2 SUTERTD F(HS.

What is meant by complement set? Give an
example.
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14.

s

15.

(<31)

(<21)

(21)

(<)

GEHTEPH0 LWELEEH x2 -5x+6=0 eemp
FTUTL 4@ Siray srers.

Solve the equation x®>-5x+6=0 using the
quadratic formula.
Or

3x+2y=13
2x+3y=12"

Sié&s :

Solve : 3x+2y - 13
" 2x+3y=12°

6,x) wpgn (84) du yasEss

Qe Cuwerar  grmid V13 aefle
wilueus sar@y.

x e
If the distance between the points (5, x) and
(8,4) is 413 then find the value of x.

Or

% FMle|L_ei (8,2) ereip  Lemall  eulwines
Qecogd & oeumigenars s&TELy...

Find the equation of the line passing through
(8,2) with a slope % .
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

SREeE GO dfsmar o grramEEHIL 6T
flearéEs.

Explain the laws indices with examples.

Or

(<) BODMAS smsdears vweru@sd ‘a’ufer

17, ()

(<)

wAlieous semhidLy.
() 42+2+ax3-22=8
(1) 25-48+6+12xa =41

Find the value of ‘a’ using the concept of
BODMAS.

(i) 42+2+ax3-22=8

(i) 25-48+6+12xa=41
whseflgs Caremausaier LG cumasamar
& (&5,

Explain the different types of algebraic
expression. Give example for each.

Or

2,7,12,17,....crénp  Ggmfler  qettug wHpID
uflennpreugs o muiseners Siwnef.

Determine the ninth and the sixteenth term
of the series 2,7,12,17,....

Page8 Code No.: 30597 B

S ——

18.

19.

(<3A)

(<)

(=21

(<)

samgdl e DD AEH
2 gryamsgLen olarsss.

CUENSHENETIL|LD

Explain all types of set with example.

Or

100 purser o drer 20 Gueild, 72 Guri
ghdaowwbd 43 Cur Wergss  Quomfuyb
Guadlpriser. ymdon wd @b Cuaueirsdr
agg@ar Gui? NQyers LG Cuaueursdr
aggear  Gui? hdob wppn GOnge
@rarHib GuaLeuiser asgenar Gui?

In a group of 100 persons, 72 people can
speak English and 43 can speak French.
How many can speak English only? How

many can speak French only and how many
can speak both English and French?

12v_(18:-5)_dx 45

Sitga = ;

10 50 10 10
Solve : _1_2&____(18.1: -5) = 4—1:+E

10 50 10 10

Or

gniiyseflen cuanasaemar o grranssiLen eeur.
Describe different types of functions with
example.
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20. (=) (1) 8x+3y=5 eenp &weTUTL DL 2L
Gemliunme e&niey wHpmb ¥ -Gl @
ETRN&E.
i) (3,-7) wppwd (-2,-5) afg_amg;j#
Qeoogd  Camlgen  swerumiigeneans
e (H g

(1) Determine the slope and the
¥ -intercept of the line whose equation

8x+3y=>5.
(11) Find the equation of the line passing
through (3,-7) and (- 2,-5).

- Or

(=) ew Canliger swarurhsaier  LOGaumy
Qiseurismer llaTdEs.

Explain the different forms of equations of a
straight line.
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